4. Oktober, Aufgabe 2d : Logistisches Wachstum

>> alpha = 5.0e-12; PO = 1.0e+6; Pmax = 2.0e+6;

>> t = 0:100:8.0e+5;

> P = Pmax ./ ( 1 + (Pmax/P0-1) * exp(-alpha*Pmax*t) );
>> plot ( t, P ); xlabel ( "t [s]® ); ylabel ( "P" );
>> axis ( [ O 8.0e+5 0 2.5e+6 ] ); grid;

>> title ( "Logistisches Wachstum® );
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Beispiel 2.16 : Fermatsches Prinzip

>> a = 2.0; b =1.0; 1 = 1.0; vl = 2.0; v2 = 1.0;
>> T = sqrt(a™2+x.72)/vl + sqrt(b”"2+(1-x)."2)/v2;

>> plot(x,T); xlabel ( "x" ); ylabel ( "T" );

>> axis ([ 012 2.51] ); grid;
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